JAZOORRK [ ESHEKE

HISEEB5

ol
8ge
ram | 7 €0
=8B K& pSArAEIE "
e EWCh (KIR) - EZU\CA HIZEIZHE
e A = N El= =i = INFERRIE B =i 8
<VEZE/HEAE > (x%50kg/10a = 50g/1m. 1000 /10a = 100m£2/1m)
EZ¥8/mRA8 FZEZ/IBRE - AZ(k g) YEZ¥8/mRA8 FZEZ/IBRE - AZ(k g)
A 8 )= H
A 8 )= H
A 8 )= H
BEEEEmLELEHL? (0 . ULWYZ
< (FREEK > [EW COZEANICIIE, FRAEERNSCALTIIZS), EiRNES 1 2024 41R1F
BEZ iR 5 fERAB
(EREY - BRE) WFAER S 168 SOH 308
FA P ) VKIS FRIISNLY
(e 10 BB ST |22 T e o | o H B
7 E A v — 1 fiA] PISLIH
(Bke/100) 158 T HEAD (TS B B8
- s 55 LYE (20008)
2N =2 )VEBRIKBE ;FZ?)ng\A‘) - g g
(1000 » 1002 /102a)
= e oA ST, PALY. 77 VA
ERES Y BHIKIBHA F2OUEARS, HIEN| 1408 I= =
(20005 - 1004/10a) NF, AL IIFIVNLY
NRT— REHE PALY DT L
(50007 « 1008 /10a) NINTZI XA 1488 B B8 s B8 B =
P07 —ALEHE T PALY L
(1000 » 1002 /102a) 788 g B B B B B
JuATZOPTIL 77, 237‘5/\/\“\% _
(1000fZ + 1004 /10a) ROV, PALY 1488 B B8 B = -
FUNUYIOPTILG PALY, SEOLY DTSN
(2000fZ + 100 0 /10a) Q?ﬁ%‘n%gﬁ}égavgwx 58 B B B B B B
SyNY20PTIVGE) Dy NE. B0
(2000f% - 100 £/10a) S B 8 B = B 8
( - - B B B B B B
( - - B B B B B B
( - - B B B B B B
( - - B B B B B B
( - - B B B B B B
( - - B B B B B B

XERZEFRIMEBUZHES. B TSI EA.

SEHLOINDBREZEA T IHREIEFRNS & R IZSU),

XKAER « BE - FIBERE. ERICEATIISZLAERKRER (56-9000) FTHRIEICRENEHELZSH,



